ABERERR (B=[E)

TCHE MR OB EER3 0 X —/¥—
sTEO > 71108 (33.3kg/=)
HiExH:5A814H

REA AT SRS © 5 O Mk HF

XSPAD--- ERRDEZHF L
L TR AR

TCHE MR OB EHERK3 0 X —/3—
TR (33.3kg/R)
HiExH:5816H
REAATIFRRE © 5 O MK HF

XSPAD---EiixRDEZHF L
L TERIEHRIRR,

15H 2 5H 35H

m 1 & a> ke HYUBL m & % a> ke HUBL m & % 2EHMY
#AHAEH 68 14H #BHAEH 68 13H AEH 68 10H
BRI 301k BRI 301k BRI 20
% St(cm) 326 "N = stlem) 31.0 A E st(em) 32.3 M
%2 H(AX) 114 +61 £ #(A) 14.1 +59 %2 ¥(K) 8.3 +35
8 #(A) — 8 #(A) — & #(A) —

EE {5(SPADfE) 38.1 +84 | IE fB(spaDE) 38.5 +ss5 | IE tB(SPADE) 35.0 +ss

[FE=] (H*%] (H*%]

TESRBRM  TAT KA L — TEHRBEM AT KA E— TERBM AT KA E—

(60kg/ =) (60kg/ ) (60kg/ )

ToAE © S LWREXR—/R—TTE2E

(60kg/ )

MmiEx H: 58138
XTI 1 604/ HF

XSPAD---EiRDEZHF &
L T&RI AR,

Bz H: 58138
HE R AT VT HREL 6 0 K/ HF

XSPAD--- ERRRDEZHF &
LTI MRS

HiEz B :5817H
MEAATITREEL © 5 0%k HF

XSPAD- ERRDEEZHF L

L T&$EHRIRR,

4 =H 5 5H 6 5 H
m 12 & 2EHNHY m & % a>eAhVUBL m & % a>eAhVUBL
#AEH 6810H #AEH 6H10H #AEH 6810H
BRI 20%k AERE 25%k AERE 25%k
= S(em) 364 55| ¥ tlem) 37.2 "RY| E (em) 32.4 T
£ H(F) 74 36| E ) 75 +33| E#EE) 8.2 i,
8 #(A) - & #(A) - & #(A) —
£ 5 (SPADfE) 36.4 +80 | ZE B (SPAD(E) 341 +78 | IE B (sPaDfB) 35.5 +s8
(=] (&%) (&%)
TIEWBEM  TA T KA L — TIEWBEM : TA T UK R — TEWRM AL
(60kg/ /) (60kg/ &) TOIE © Mg OB E B3 0 X —/8—
TOBE : 2 L WRER—/X—JTE25 |JThE - OB EEH3 0 X —/3— TohE (33.3kg/R)
(60kg/ /) ToAE (33.3kg/ &) A#EZ B : 58158

MERATITRE © 5

XSPAD--- ERFRRDEZHF L
L T&9 a0,

0 k¥




